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= X 4 =5 | TimhohERE NADKRES K 4 TIHALDKE| HE ADKRES X 4 g | timrontkks ADKRES X Limmhonts | & ADKRES
(m) (m) (kN/m) 2B A (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
’ 100kN/mM#Z#B% % 1.00/0.00 ~ 299 147.44|3m%#B%%[000 ~ 0.03| 3.02 15.81| 100kN/m%E#B 2% 1.00{ 1054 ~ 27.02 147.44|3m%#B%%|25.00 ~ 27.02| 3.02 15.81
Zh st 1.00/2.99 ~ 10.77 100.00f #h 4%t [0.03 ~ 10.77| 3.00 15.73 ZHLS 1.00| 500 ~ 10.54 100.00] Zx kst | 500 ~ 25.00f 3.00 15.73
9 100kN/mM#Z#BZ % 1.00{0.00 ~ 3.02 148.09|3m%#E%%(0.00 ~ 0.00| 3.00 15.74| 100kN/m%#BZ % 1.00 1055 ~ 28.01 148.09|3m%#8% %[ 25.00 ~ 28.01| 3.00 15.74
Zh st 1.00] 3.02 ~ 10.81 100.00f #h 4%t [0.00 ~ 10.81| 3.00 15.73 ZHLS 1.00f 500 ~ 1055 100.00|] x4t | 500 ~ 25.00] 3.00 15.73
3 100kN/mM#Z#B% % 1.00(0.00 ~ 3.11 149.61|3m%i#E%%|000 ~ 005 3.02 15.86| 100kN/m%#E 2% 1.00( 1054 ~ 28.64 149.61|3m%#B 25| 2500 ~ 28.64| 3.02 15.86
Zh st 1.00]| 3.11 ~ 10.90 100.00f Zxl4%t [0.05 ~ 10.90| 3.00 15.73 TS 1.00| 500 ~ 10.54 100.00] Zh kst | 500 ~ 25.00f 3.00 15.73
4 100kN/m#%#BZ % 1.00| 0.00 ~ 290 145.99|3m%EB %% a ~ = = -| 100kN/mM%E#Z% 1.00] 10.64 ~ 28.00 145.99|3m%EHE %% = ~ = = =
ZnLs 1.00{ 290 ~ 10.69 100.00f ZH1List | 0.00 ~ 10.69] 2.95 15.48 st 1.00f 500 ~ 10.64 100.00] Zh A4t | 5.00 ~ 28.00[ 2.95 15.48
5 100kN/mM%#BZ % 1.00{0.00 ~ 3.14 150.11|3m%#E x5/ 0.00 ~ 0.21] 3.11 16.30| 100kN/m%#B x5 1.00| 10.55 ~ 30.00 150.11|3m%# X 5| 25.00 ~ 30.00| 3.11 16.30
ZnLs 1.00] 3.14 ~ 10.92 100.00f ZhList 1021 ~ 1092| 3.00 15.73 Lot 1.00f 500 ~ 10.55 100.00] Zh x4t | 5.00 ~ 2500 3.00 15.73
100kN/m%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBERD ~
Zh s ~ Fhn st ~ LS ~ Zh Lot ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ Fhn st ~ LS ~ Zh Lot ~
100kN/m%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEEZD ~
ZFh s ~ FhnLst ~ S ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ FhnLst ~ Zh S ~ ZFh s ~
100kN/m%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ S ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ FhnLst ~ S ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ Zh s ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ IMEEZD ~
ZFh s ~ Zh s ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ IMEEZD ~
ZFh s ~ Zh s ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ ImEEZD ~
ZNLUS ~ ZThLS ~ ZHLS ~ T IO0)) ~ |
=FR



